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PART : CHEMISTRY

1. When white phosphorous react with conc. NaOH solution a sodium salt 1s formed. The anion of salt
contain two P-H Bonds acid of that anion is
(1) Phosphonic acid (2) Phosphinic acid
(3) Pyro phospharic acid (4) Meta phasphoric acid

Ans. (2)



Sol. P4 (White) + Conc. NaOH — NaH2POz + PHs
1
HaPO2
Phosphinic acid

2. Activation energy of a first order reaction is 532611 J, then relation between rate constant of reaction at
300 K and 310 K is Kago = [X] x10~2 K31, the value of X is — (GivenR = miu. In10=223)
Ans. (1)
K, _Baf1 1
sol.  in(32) =2(s5-5)
— 532611 10 e
T Tes (3onxam =6.9
T EEAETE:
n(ﬂlun) :
| Kool >
n(ex) =23x3
Ksio) —
In(m“) =31n(10)
(M) =102
Koo
Kaoo = 1x102 K310
SeX=1
3. Which of the following in true regarding colloidal solution

(1) Brownian movement destabilize the colloidal solution
(2) Opposite charge sol when mixed neutralize the charge stable the colloidal solution
(3) Similar charge on colloidal particle makes the sol stable
(4) None of these
Ans. (3)

Sol.  Similar charge on colloidal particle makes the sol stable
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4. In the following reaction sequence FeCraO4 = Lo B
Find no of terminal oxygen atom in product 'B'
Ans. (B)
KOH +0y H™[H30
Sol. FeCr204 KaCrO4 K2Cr207
o]
1l O /O
cr0t = Cr7 e
raU5 o//| (IJI%O
Q ®
No. of terminal oxygen = 6
5. Enthalpy of vaporization of 17 gram of ammonia is 23 4 kJ, then find enthalpy of vaporisation of 85 gram
ammaonia.
Ans. (117)
Sol.  AHvap of 17 gram of NHa = 23 .4 gram
AHvap of B85 gram of NHa = [% x BS]
=234x5 =117 kJ
6. 4 64kg FeaOa react with 2.52kg of CO accarding to following reaction

FesQs+4C0O — 3 Fe +4C0O2



Ihen Find mass of Iron 1s tormed in gram is

(1) 3360 gram (2) 5040 gram (3) 2800 gram (4) 3920 gram
Ans. (1)
Sol. FesOs + 4CO0 — 3Fe+4C0O2
Mole (*52%) T
20 90 Male LR is FeaOs
0 (90-80) 3x20
=60 Mole

Mass of Fe = 60 x 56 = 3360 Gram

T. In extraction of which metal cyanide is not used

(1)Zn (2) Au (3) Ag (4) Cu
Ans. (1)
Sol. (i) Ag + NaCN —2— [Ag(CN)2J®

o
(ii) Au + NaCN —— [Au(CN)]®
(iii) During froth floatation process of copper pyrites it contain PbS and ZnS as impurities, NaCN is used
as depressant during this process
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8. In which solution AgCl has maximum solubility
(1) 0.01MKCI (2) 0.01MHCI
(3) 0.01MAgN O3 (4) Deianised water
Ans. (4)
Sol. Inkcl, HCI and AgNOs solubility decrease due to commaon ion effect so solubility maximum in deionised
water
8. Column-i Column-ll
Metal Wave length of Colour (A(nm))
(iyui (a) 780
(i) Na (b) 670.8
(i) Rb {c)589.2
(iv)Cs (d) 455.5
0] (1) (iii) (iv)
(1) b c a d
(2) a b c d
(3) d (i b a
4) b a [ d
Ans. (1)
Sol.
Metal Li Na K Rb Cs
Colour Crimsonred | Yellow | Violet/Lilac | Red violet Blue
Wave length (A(nm)) | 6708 589.2 | 766.5 766.5 766.5
10. Identify correct decreasing order of cavalent character.
(a) LiCI (b) NaCl (c) RbCI (d) CsCl
(ha>b>c>d (2)d>c>b>a (3a>c>b>d 4)a>b>d>c
Ans. (1)
Sol. On moving down the group covalent character is decreasing.

1. 0.55 gram of an arganic compound containing nitragen in kjeldahl method it give NH3 gas which neutralize

e R T A T a e vl D T e e T Y I a s ITEE



COMPIETElY DY 12.5 M1, 1 M H23WUs, TNEN NINA % OT NIFOgEN IN organic compouna. [Keport Your answer 1o
nearest integer]
Ans. (64)
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Sol. Organic compound — NHa(g)

055¢
NHa + H2S0s — (NH4)2 SO4
VF =1 VF =2

Eq. of NHs = eq. of H2SO4

1(nwua) = 2 [1x12.5]x10-23

NNirogen = 2 X 12,5 x 1072

Whitrogen = [14 % 2 x 12 5] x 10-8 gram
=35 x 102 gram

35x10™1*
55x1071*

=63.636% = 64%

% of Nitrogen = x 100

12. In which of the following reaction H20: act as reducing agent (in alkaline medium)
(1) PbS + H202 — PbSO4 + H2S
(2) Mn Oy + H202 — MnOz + O2+ OH-
(3) HOCI + H202 — Clz + O2 + H*
(4) Sn?* + H202 — Sn* + H20

Ans. (2)

Sol. MnOZ i Hz202 —— MnOz+ O2+ OH-
Oxidising Reducing (alkaline M edium)
Agent agent

13. 1.2 ml of acetic acid with density 1.02 gram/ml When dissolved in 2 Lit of water depression in freezing
paint observed is 0.0198°C then find % dissociation of acetic acid in this solution [given Ky (Hz20)=
1.85K kg/ mole]

(Report your answer to nearest integer)

Ans. (5)

Sol. Mass of CNa COOH =dvV =102x12

=1.224 gram

Molality of CHaCOOQH solution = ( '““)

0x2

ATe=ikyXm
D,ﬂ1982ix185(;::;]
i =1.0493
i=1+(n-1)o
10493 =1+ (2 - 1)a
0. = 0.0493
%e=49355
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14. 0.1 amp current is passed for 2 hours through dil. H280a solution, then find total volume of gases (in ml)
produced as electrode during electrolysis at NTP. [Given volume of 1 mole of ideal gas at NTP =227 Iit]

Ans. (127)

Sol. Charge=q=1t=01x2x60x60

=720C
Anode: 2H20(l) — Oz(g) + 4H* + 4e-
Cathode : [2H20(1) + 28~ —s Ha(g) + 20H] x 2

2H20(]) + 4e-— 2Hz(g) + Oz
4F charge produced = 3 mole gas

720 _ {3 720 |
(W)F charge produced = (:x m) mole =

3x18
9650

mole

Volume of gas (at NTP) =% x22.7=0127lit. =127 ml

15. Correct electronic configuration of Pt (atomic no. 78)

(1) [Xe] 4f14 5d0 Bs0  (2) [Xe] 4f14 5d° Bs? (3) [Xe] 4f14 5d8 652 (4) [Xe] 4f14 5d0 650
Ans. (2)
Sol. Pt (Z =78)=[Xe] 4f*4 5d° Bs'

16. MnOZ~ disproportionate in acidic medium then find magnetic moment (spin only) in higher oxidation state
praduct.
Ans. (0)

Sol. 3MnO#~+4H* = 2MnO4 + MnOz + 2H20
2sMn™ = 3d®  unpaired electron =0

H(spin only) = 0

17. Which of the following set of statement is correct.
(a) magnetic quantum number can have negative value,
(b) In ground state electron are always filled according to increasing order of energy of orbital.
(c) Total number of nodes are (n - 2).

(d) electronic configuration of Cr is [Ar] 3d® 4s7

(1)a b, d (2)a,b,c (3)b,c,d (4)a c
Ans. (1)
Sol.  Total number of nodes are (n-1)

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) - 324005
Ph. No.: +91-744-2777777, 2777700 | FAX No. : +91-022-39167222
To Know more : sms RESO at 56677 | Website : www, eacin | E-mail : contad@resonance.acin | CIN ; USO302R)2007PLCO24029
Toll Free ; 1800 258 5555 7340010333 ‘;u-tm comPesorarcetdy umwn%mm Emymbn.:nwmm E:m; resonInce s in

This solution was download from Resonance JEE (MAIN) 2022 Solution pertal PAGE#5

[ RBeson=nce’ | jee MAIN-2022 | DATE : 29-06-2022 (SHIFT-1) | PAPER-1| MEMORY BASED | CHEMISTRY

18. An ideal gas (density = 0.121 gram/ml) at 257°C temperature have pressure 100 mm of Hg then find
maolar mass of gas. [Given R = 0.082 Latam / mole k.]

[Report your answer to nearest integer]

Ans. =40
Sol. Forideal gas
PM=dRT

(2% = 0.121 x 0.082 x 530



M =d x 330.296

M =39 97 » 40
19. Which of the following compound does not contain Sulphur atom.
(1) Cimetidine (2) Ranitidine (3) Histamine (4) Saccharin
Ans. (3)
Sol. ltisfact.
HNj\/\
g‘ NHz
Histamine

20. The acid that is believed to be mainly responsible for the damage of Taj Mahal is

(1) Phosphaoric acid (2) Hydrachloric acid
(3) Hydrofluoric acid (4) Sulphuric acid
Ans. (4)

Sol.  The acid rain reacts with marble, CaCQOs of Taj Mahal
(CaCOa + H2804 —» CaS0a + H20 + CO2)
causing damage to this wonderful monument that has attracted people from around the world. As a result,

the monument is being slowly disfigured and the marble is getting discoloured and lustreless.

21. In the given reaction, the product (A) and (B) are respectively

NH2
Brz(excess) "
—
@ a0 (A) Major product
NH2

(i) (CH3CO)0

(i) Brz.CHaCOOH . \5) Major praduct
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NH2 NH2
Br
(1)

I
i

NH2
Br Br Br Br
and (2) and
Br Br Br
NH2 NHz2 NHz2 NHz2
Br. Br
(3) and (4) and
Br Br Br Br
Ans. (3)
NH2 NHz
Br Br
Sol. (3) and
Br Br
22, Statement-| : During esterification of acid with alcohol, the reaction proceeds via Nucleophilic acyl

substitution
Statem ent-ll : Present of Electron withdrawing group on acid increases the rate of esterification.

(1) Statement-1 is correct only. (2) Statement-I1 1s carrect only.



(3) Both statement-1 & Il are correct. (4) None of the statement is correct.

Ans. (3)
Sol. Both statement-1 & Il are carrect.
23. CaHs with acidified KMnOs gives effervescence of a gas and a ketone. The compound is
(1) But-1-ene (2) Cis-But-2-ene
(3) Trans-But-2-ene (4) 2-Methylpropene
Ans. (4)
KMnOas
Sol. —_—
Acidified o
24, How many of the following compounds has asymmetric carbon atom.
Cl NH2
(i) Q/\ (i) /k/ (iii) )\/
V) N V) OH
Ans. (3)
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Sol.

25.

Ans.

Sol.

26.

Ans.

Sol.

27.

Ans.

Sol.

28.

Ans.

Sol.

(i1}, () and (v) has asymmetric carbon atom.

Statement-| : Phenal shows acidic character so it is soluble in NaOH.
Statem ent-ll : Phenol is weaker acid than alcohol and water.

(1) Statement-l is correct only. (2) Statement-Il is correct only.
(3) Both statement-1 & I are correct. (4) None of the statement is correct
(1

Phenaol is stronger acid than alcohol and water but weakest acid then organic and mineral acids.

The polymer made of which of the following monomer can be stretches and still retain its physical form.

(1) Buna-N (2) Bakelite
(3) Terylene (4) Nylon-6,6
(1)

In elastomeric polymers, the polymer chains are held together by the weakest intermolecular forces.
These weak binding forces permit the palymer to be stretched. A few 'crosslinks’ are introduced in
between the chains, which help the polymer to retract to its oniginal position after the force is released as

in vulcanised rubber. The examples are buna-S, buna-N, neoprene, etc.

In DNA and RNA, which of sugar malecule is present respectively.

(1) Ribose, 2-DeoxyRibose (2) 2-DeoxyRibose, Ribose
(3) Ribose, Ribose (4) 2-DeoxyRibose, Deaxy-2-Ribose
(1

The sugar found in polynucleotides is either ribose (a monosaccharide pentose) or 2' deoxyribose. A
nucleic acid containing deoxyribase is called deoxyribonucleic acid (DNA) while that which contains

ribose is called ribonucleic acid (RNA).

Zymase 1/OH-
CeH1208 »(A) oe »(B) + CHIa

No. of carbon in compound is
(m

CeH120e O

# CoHsOH Tho® »HCOQH + CHIa

Zymase
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Product (A) in the given reaction is

COOH
@i (CHahCLi ncozea @:
(i) H3O OH

ot OH
=
i ~C[CHs)s % ~C(CHs)s
[0 Ny
COOH
[:::I:: (CHagcLi ‘co.
(i) HaO’
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